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Relevance to crime?

Generic statement 

Antithesis means opposite of thesis i.e. Poverty does not cause crime. In thus you prove that poor are not criminals. In synthesis you may take the stance, poverty is not the sole stimulus for crime. 

Reorganize the subpoints according to this.
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Many subpoints are overlapping, eg illiteracy.
Classify accordingly in main points 4&5
CamScanner


https://v3.camscanner.com/user/download
This heading only is synonymous to your thesis in point 3

Many subpoints are overlapping, eg illiteracy. Classify accordingly in main points 4&5




